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Note : Q. No. 1 is compulsory. Attempt any four questions

from Q.No. 2 to 7. Give figures wherever necessary.

PART-I (PLANTS)
1. (a) Choose the correct term given in the bracket : 2
(i)  The cells of the (endothecium/middle
layers) are usually short-lived and are

used up quite early during the
development of microspores.

(i) (Podostemaceae/Oenothera) lacks
endosperm.

(iii) In (Chasmogamous/Cleistogamous)
flowers the mature anthers and
stigma are exposed to pollinating
agents.

(iv)  (Reaction wood/Heartwood) develops
due to an increased xylem production
on either the upper or lower side of a
branch.
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Fill in the blanks :

(i)  In majority of angiosperms 3-celled
male germ unit is organized in

(i)  The outgrowths of wood parenchyma
cells which penetrate into the vessels
through pits are termed as

(i)  The central cell is connected with egg,
the synergid, and the antipodals

through o __connections.

iv) In Argemone mexicana additional
embryos may arise from

Write technical terms for the following

statements :

(i) A group of pollen grains that occur in
a mass.

(i)  Germination of seed and nurturing of
young sporophyte in the fruit while it
is stili attached to the parent plant.

2 (a)  Draw a sectional view of mature synergid.
Depict by means of arrows the direction of
flow eof nutrients into the embryo sac
through the synergid.

{b)  Discuss the mechanism of ‘solar tracking’.

3. Answer any two of the following :

(@) Describe secondary growth in a
dicotyledonous stem.
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(b)  Explain general development and structure
of vascular cambium.

(c)  Describe different types of seed appendages.

4. Define dormancy. Differentiate between innate 5
dormancy and induced dormancy.

5. Define Organogenesis. Discuss the factors that 5
control/influence organogenesis in in vitro
conditions. Support your discussion with specific

examples.
6.  Define apomixis. Explain its causes and its
significance. 1+2+2
7. Write short notes on any two of the following : 5

(a) Dicliny

(b) Syngamy

() Economic importance of wood
(d) Periderm
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PART-II (ANIMALS)
1. (a) Fill in the blanks : Yax4=2

(i)  Asexual reproduction in Paramecium
occurs by

(i)  The primary egg envelope in insects
is named as

(i)  Hormone secreted from corpora allata
of insect is called __

(iv) The embryos in which the fate of the
blastomere is determined late during
development are called __
embryos.
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(b)  Match the following : Yrx4=2
(i)  Neoplastic tissue  (A) Insect
(i)  Centrolecithal (B) Lymphoma

(itf) Lymph Node (C) Tubulin
(iv) Axoneme (D) Tumour
(c)  Choose the correct term given in the bracket : 1

The type of regeneration in which the part
that regenerates is not the same as that
which was lost is called (heteromorphosis/
morphallaxis).

2

Describe the various types of cleavage patterns 5
that occur in the zygote of the animal groups.
Give one example of an animal group for each

cleavage pattern.

3. With the help of suitable diagrams describe the 5

process of neurulation in amphibians.

1. (2} Discuss the progressive and regressive 4
Morphological changes in  anuran
amrhibians during the process of
metamorphosis.

(by  Define neotenv. 1

5. Describe the development of vertebrate eve. 5

6. Explain the process of epimorphic regeneration 5

in newt limb.
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7. (a) Whatis a growth curve ? Write about the 3
two types of growth curves.

(b)  Diagrammatically show the stages in early 2

human development from unfertilised egg
upto implanted embryo
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